Final Review

Chapters 3 – 6 Jeopardy
Accelerated

Chapter 3:  Solving Equations
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(no solution)
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Chapter 4: Graphing Linear Equations and Functions
200:  Find the slope of the line passing through the points:  (7, 1) and (-2, 1)










(Zero)

400:  Find the slope of the line passing through the points:  (-3, 4) and (-3, -4)










(undefined)

600:  Find the slope of the line passing through the points:  (-3, 3) and (7, - 1)









( -2/5 )
800:  Graph using slope intercept form:  
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(m = -3/2, b = 0.5)
1000:  Identify the x and y intercepts:  
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(x = 20, y = -12)

Chapter 5:  Writing Linear Equations
Write the equation of the line with the given information:
200:  Passes through (-3, -11);  m = 
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400:  (-2, -2), (1, -1)
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600:  f(2) = 7; f(4) = 6
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800:  Parallel to 
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;  passes through (-2, 5)
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1000:  Perpendicular to 
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; and passes through (4, 2)
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Chapter 6:  Solving and Graphing Linear Inequalities
200:  Solve and graph:  
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400:  Solve:  
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(all real numbers)  
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(no solution)

1000:  Graph:  
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(x – int:  - 2, y – int: 5
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